(R (EAL)  #EERPR]

KRR (R) O &Ffr
EEKBHERM(EEEA) O & Ffr
EEKBER(EEEB) o &Fr
FEKSLERF(EEEC) o &fr
HOKRAERFARY T15 O & Ffr
KA - B BRI O & Ffr
KB EIRFE S 7oL
K ERESEE 7oL
<HFmEBE>
[ NI EAD (E%4E) ]
HEM)IEE—TE
syT=) ;1 3.70m
REERAKEL; 2.90m
HEK AL :2.30m
LEEEKAL; 2.00m
(BERE :TP69. 22m)

HTPIE. RRERFILZERLET,

TH6FE

BEEmI”

IKBA1EER"

(BPm (RAL) )

(Re#E1|]

[(EREZNES KBS (Y)IB
UIBCYIRERER> CETEIERH)

)]

MEsREM (FBREES)

R
<

Y WS

KISEE R ) | .

2E(HFM)

it b

PN L

R
Y

_ABANEOTAR

(R
KISEEE(R) A
KEBEOKFEERDE A

STKBE (EEEA) =
STKBEF (FEEEB) =
SZKBEF (FBEEC) m—
BkmEBOUgNYTE O
KA R ER A A
KHEREDTNBE  Jaun




(BF™ (R HEERAR]

KBRE (8]) O &
BEEKP R (EREA) O &
EEKpER (EEEB) 2 A
BB (EREC) O &
PKRBREAR Y Ti5 O T

IKAGL - FAGLER B S 4 &R
KB ERFE S L
KWERRTBE T L
<fFREFEE>

[P )IKEL &R (R ]
HETIEET—TH
Zha i TP3.70m
LR ; TP2.90m
H Bk AL :TP2.30m
LEFEKAL; TP2.00m
(FRE :TP69. 22m)

HTPIE. RRERFIELZERLET,

€ 1ok
TR

b i Bl =|
3-4-FEKBHERT
(EEEB) (BF™)

(RE#EIR]

[(EREZNES KBS (Y112 ]
UBECYIEEREHR> GETRERS)

fEsR2M (FEREEE)

SOSIBRMEIRILKNIET (B

L kpaEERT |

=5

3 S
KBA R E (BT

s

 (RF) )

QNELD
KB (R)
KB E KB EED R

STKBE (FEEA) =
STKBEF (FEEEB) =
SZKBEF (FEEC) m—
BkmEBOUgNYTE O

KA - BIERAS
KBOERADT)-BF




(R (FEdL)  HEERPAR]

KB E (8) O &Ffr
EEKBER(EEEA) O & Ffr
BEEKBERT(EEEB) O &
FEKSLERF(EEEC) o &fr
BRI R Y Ti5 O & Ffr
TRz - B ELRI B O & Ffr
KB EIRFE S 7oL
K ERESEE %L
<HBHiLEE>

(R NDKGLEAIR (t348) )
PTG —TH

T 6 FE

REEA)I" KAER" (BFEm (FEdk) )

2=

LB ERRIKAL

H KL

SLEUERIKAL

; TP3.70m
TP2.90m
; TP2.30m
; TP2.00m

(BERE :TP69. 22m)

HTPIE. RRERFILZERLET,

‘LEHE-E-

|

==

3

<
i
M=
® - .'
=5

(Re#E1|]

UECT) R GERREEBH)

[(EREZNES KBS (Y112 ]

MEEREM (FBREES)

[@R:ID)

KIEEE (D) A
KIEBECKHEEDR A
BTKEEFH (BBEA) =
BEKEE (EEER) m—
BE KB (BBEC) m——
HKBEUSRY TS O
KT ERTERS A
KIBEREST | B Jeae

L\@b
,a ‘9*%“

)<

A
i R .
f??;éhfb§'
=T H T N
1 >
Ch R
%

&
e

507
s S
2%

'
Al




(R (@R EERAR]

KprRE (8R)
EBKER(EEEA)
EBKpER(EEEB)
EEKP & (EEEC)
BEKIAEHRAR Y 15
KL - BB D
KBFEHFE S
KBFEHRETBSF

<fFREFEE>

(R NDKGLEAIR (t348) )
PTG —TH

O &fr
O &P
O &iFr
o &fr
O &P
O &P
oL
oL

syT=) i TP3.70m
OEEIRKEL; TP2.90m
H Bk AL i TP2.30m
LEEEKAL; TP2.00m

(BERE :TP69. 22m)

[EBE)NIKEEARER)]

ERBHENGTEFTES
b= :5.00m
LEEERKAL; 2. 65m
BEEEFIBTKGL ; 2. 35m
HEK AL 1 2.35m
LEFEKAL; 2.20m

[FEE=E1R]

BEREBHME  KRES ()12 ]

[
UBECYIEEREHR> GETRERS)

fEsR2M (FEREEE)

QNELD
KB (R)
KB E KB EED R

-3
A

STKBE (FEEA) =
STKBEF (FEEEB) =
SZKBEF (FEEC) m—

KRB Y Ti5
KA - BIERAS
KBOERADT)-BF

@)




